3 4 3
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0| 13.0| 280.0| 1,061.0| 2,133.0 1,848.0| 595.0| 88.0] 18.0 1.0| 6,039.0
C-D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-D]C-)| GBH0| 184 (%.2|(9D| (%.8]| (106.1)| (8.9)| (163.6) | (100.0) 69.2
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] C 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.2| ( 4.6)| (17.6)| (35.3)| (30.6)| ( 9.9 | ( 1.5)| ( 0.3)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40 10| 20| 28.0] 120 1.0 0.0 0.0 77.0
C-)D)C-)D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C-=-)]C=-)@0.0( (%09 10.00| (80.00| A71.H| (20.00| C - )| C - ) 69.0
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.00] ( 5.2| (13.0)| (28.6)| (36.3)| (15.6)| ( 1.3)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 13.0] 620 426.0] 127.0] 16.0 2.0 0.0 653.0
C-)C-D)C-D)C=-DC=-D[C=-D[C=-DC-D)C-)]C-)]| 400 (0.0 (86| (110.4)| (%4.8| (8.9 (20.0)| C - ) 68.4
( 0.00] ( 0.00] ( 0.0)]  0.0)| ( 0.0)|  0.0)| ( 0.0)] ( 0.0)] ( 0.00] ( 0.0 ( 1.D)]| ( 2.0)| ( 9.5)] (65.2)| (19.9)| ( 2.5)|  0.3)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0] 49.0| 165.0] 680.0] 329.0] 55.0 8.0 0.0] 1,29%.0
C-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C-=-D]C=-)C=-)C11LH|(76-6)| (8.8 (103.8) | (129.0) | (110.0)| (160.0) | € - ) 68.3
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00| ( 0.0 ( 0.8)] ( 3.8 | (2.7 (52.5)| (5.9 | ( 4.2)| ( 0.6)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 11.0| 48.0] 28.0 2.0 2.0 0.0 %.0
C-D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-D)]C=-)]C-)|00.0|(4.0| (78.6)| (126.3)| (147.49)| (50.0)| (100.0) | C - ) 68.3
 0.0)| C 0.00] ( 0.0)] C 0.0)] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ .| ¢ 2.D| (1P| (5.0 (2.8)| ( 2.1)| ( 2.1)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 6.0| 14.0| 18.0] 14.0 1.0 0.0 0.0 54.0
C-D)C-)D)C=-DC=-DC=-D[C=-D[C-D[C-)]C-)]C-)|100.0) (150.0) | (200.0) | ( 72.0)| (466.7)| (100.0)| C - )| C - ) 68.6
( 0.00| ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.00] ¢ 1.9| (11.D)| (25.9)| (33.3)| (25.9)| ( 1.9)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 13.0] 56.0| 180.0| 401.0| 89.0 7.0 1.0 0.0 748.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C-)]C-)|118.Y| (124.4)| (139.5| (100.0)| (8.6)| (28.3)| (5.0 C - ) 68.8
( 0.00] ( 0.0)] ( 0.0)] C 0.0)] € 0.0)| ( 0.0)| ( 0.0)| ( 0.0)]  0.00]  0.D]| ( 1.7)| ( 7.5 | (24.D)| (53.7)| (11.9)|  0.9)|  0.1)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 13.0] 120.0| 415.0] 3.0 293.0] 36.0 5.0 1.0| 1,827.0
C-)C-)D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C-)]C-) @100 1A17-6) | (143.1)| (108.5) | (74.49)| (63.2)| (250.0) | ( 33.3) 68.7
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| C 0.0)| ( 0.0)]|  0.00] ( 0.D]| ( 0.D] ( 6.8)| (2.7 (51.5)| (16.0)| ( 2.0)| ( 0.3)| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 24.0] 194.0| 649.0| 1,641.0| 551.0] 105.0 9.0 2.0 3,175.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C-=-DC-DHC-)]C-)|A4D| (163.0)| (178.3) | (114.3)| (110.2) | (129.6) | (150-0) | € - ) 68.6
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.00] ( 0.8)] ( 6.1 (20.4)| (51.6)| (17.9)| ( 3.3)| ( 0.3)| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 57.0| 198.0| 440.0 107.0] 11.0 1.0 0.0 821.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)]C-)| @m0 (203.6)| (1%0.0) | (102.8)| (5.9 | (73.3)| (0.0 C - ) 68.7
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.0 ( 0.0 ( 0.9] ( 6.9 (24.D)| (5.7 (13.00| ( 1.3)| ( 0.1)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 53.0] 1/5.0] 3%.0] 7.0 8.0 1.0 0.0 658.0
C=-D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)]C-)[(8.5)|(126.2)| (145.8)| (B.5)| (8.1)| (66.7)| (0.0 C - ) 68.8
( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)]  0.00] ¢ 0.0 ¢ 1.D)| ¢ 8.1 (26.6)| (51.4)| (11.9)| ( 1.2)| ( 0.2)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 12.0] 38.0| 167.0|1,082.0] 350.0] 44.0] 16.0 3.0 1,712.0
C-D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-D]C=-)C-) @14 (69.1)| (76.6)| (102.0)| (86.6)| (57.9)| (200.0) | (150.0) 68.4
( 0.00| ( 0.00] ( 0.0)] C 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 C 0.7)]| ( 2.2 | ( 9.8)| (63.2)| (20.49)| ( 2.6)| ( 0.9)| ( 0.2)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40 13.0] 50| 86.0] 35.0 2.0 0.0 0.0 191.0
C=-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C-)C-)|@A625| (45| (117.89| (1%5.0)| (40.00| C - )| C - ) 68.8
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] C 0.00] ( 0.0 ( 2.D] ( 6.8 (26.7]| (45.D)]| (18.3)| ( 1.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.0 23.0] 118.0] 44.0] 1.0 3.0 0.0 208.0
C-D)C-DIC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C=-)C=-)|@00]| 7.5 (12.9| (RB.6)| (110.0)| C - )| C - ) 68.4
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)]| C 0.00] ( 0.0 ( 0.00] ( 4.3 | (11.D)]| (56.7)]| (21.2)| ( 5.3)| ( 1.9 | ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 17.0] 53.0] 9.0 26.0 4.0 0.0 0.0 193.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-)[C-)]C-)]| 2000 (283.3)| (240.9| A08.2)| (86.D| AB.D| C - )| C - ) 68.7
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0)| ( 0.5)] ( 8.8)| (27.5)| (47.6)| (13.5)| ( 2.1)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 6.0 12.0 4.0 1.0 0.0 0.0 25.0
C-D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)C-=-)C=-)| (0.0 | (0.0)| (109.1)| (200.0)| (50.00| C - )| C - ) 68.7
( 0.00]  0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)] ( 8.0)| (24.0)| (48.0)| (16.0)| ( 4.0)| ( 0.0)| ( 0.0)| (100.0)




3 4 3
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 4.0 2.0 1.0 0.0 0.0 8.0
C-D)C-)D)C=-DC=-DC=-D[C=-D[C-D[C-DC=-I)C=-I)C-DC-D]C-)]@0.0)|(C-)A0O)IC-)C-) 68.5
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.0)] (12.5)| ( 0.0)| (50.0)| (25.0)| (12.5)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0] 12.0] 42.0] 13.0 2.0 0.0 0.0 70.0
C-)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C=-)C-)|(33] (00.0)| (15.6)| (100.0)| (66.7)| C - )| C - ) 68.4
( 0.00]  0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.00] ( 0.00] ( 1.8 | (17.D)] (60.0)| (18.8)| ( 2.9)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 13.0| 420| 240.0] 70.0 6.0 0.0 0.0 375.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-)[C-)]C-)]| (@000 A4.4| A61.5)| (121.2)| (89.D| (29| C - )| - ) 68.5
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.00| ( 0.0)| ( 0.00]|  0.0)| ( 0.00] ( 1.D)| ( 3.5 (11.9)] (3.9 (18.D] ( 1.6)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 2.0 1.0 0.0 0.0 0.0 4.0
C=-D)C-D)1C=-DC=-DC=-D[C=-D[C=-DC=-DC=-DC=-D)C=-DC=-D[C-D)]@O|C-)|C=-DC=-D)[C-) 68.6
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| C 0.00| C 0.00| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.00] ( 0.0)| (25.00|  0.0)| (50.0)| (25.00| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.0 19.0| 47.0| 241.0| 114.0| 16.0 2.0 2.0 446.0
C-D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-=-D]C=-)C-)@667D|(N5)]|(70.1)| (9%8.0)| (116.3) | (114.3)| (200.0) | (200.0) 68.4
 0.0)| ( 0.00] ( 0.0)] C 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 1.D)| ¢ 4.3)| (20.5) ] (54.D)| (25.6)| ( 3.6)| ( 0.9)| ( 0.4)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50| 46.0] 8.0 170.0] 46.0 6.0 1.0 0.0 360.0
C-D)C-)D)1C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C-) (74| (158.6)| (150.9 | (183.2) | (143.8) | (100.0) | (100.0) [ C - ) 68.9
( 0.00| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.00] ¢ 1.0)]| (12.8) | (23.9) | (47.D)| (12.8)| ( 1.7)| ( 0.3)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.0 0.0 2.0 0.0 0.0 0.0 5.0
C-C=D]C=D]CDC=D]C=-D]C=DC-D[C-D] === (-)@.0|C-)C-)C-)] 60
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] € 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.0)| (40.0)| (20.0)| ( 0.0)| (40.0)| ¢ 0.0)|  0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 3.0 1.0 0.0 0.0 0.0 6.0
C-D)C-DIC=-D1C=-D1C=-D[C=-D[C-D[C-D]C-=-)C-=-)C-)|Q00.0)]|(%0.00| (60.00| (0.00| C -)|C-)C-) 69.0
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0)| ( 0.00] (16.7)| (16.7)]| (49.9)| (16.7)| ( 0.0)| ( 0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.0 4.0 0.0 0.0 0.0 9.0
C-)C-D)C-D)C=-DC=-D[C=-D0C=-DC-D)C-DC=-DC=-D[C-DC-D)BY | (H4D|C-)D)|C-D]C-) 68.3
( 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00]|  0.0)| ( 0.00| ( 0.0)| (5.8)| (40| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 10.0] 57.0] 270 5.0 0.0 0.0 103.0
C-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C-=-D]C=-D1C=-)[C-)|#00.0)| GB.3|(29.2)| (10.0)| (100.00| C - )| C - ) 68.3
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00]|  0.0)| ( 0.00]| ( 0.0)| ( 3.9 ( 9.D| (5.3)]| (26.2]| ( 49| ( 0.00]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40.0] 62.0] 72.0] 340 18.0 9.0 1.0 1.0 237.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D]C-)]C-)| 0.5 (147-6)| 378.9| (100.0)| (257.1) | 40.0)| C - )| C - ) 69.6
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.00] (16.9] (26.2)| (30.4)| (14.3)| ( 7.6)| ( 3.8)| ( 0.9)| ( 0.4)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 5.0 1.0 0.0 0.0 10.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-D)C-=-DC-=-D]C-)](B]| (166.7)]| (100.0)| C - )| C-) 67.9
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0 ( 0.0)| (20.0)| (30.0)| (50.0)| (120.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 9.0 41.0] 79.0] 134.0] 23.0 2.0 0.0 0.0 289.0
C=-)C-)D)C=-D1C=-D1C=-D[C=-D[C-D[C-D)]C=-)]C-)[©00.0| (1640 | A1) | (4D | (0. D| (22| C - )| C-) 69.1
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.3)] ( 3.D]| (14.2)| (27.3)| (46.9)| ( 8.0)| ( 0.0| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 27.0] 8LO| 126.0| 40.0] 14.0 3.0 0.0 295.0
C-)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D)]C-)]C=- )00 (%4| (A76.1)| (121.2)| (102.6) | (116.7)| (150.0) | C - ) 68.7
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)]| C 0.00] ( 0.0 ( 1.8| ( 9.2 (27.5)| (42.6)| (13.8)| ( 47| ( 1.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 13.0 9.0 3.0 0.0 0.0 27.0
C-)C=-D)[C-D)C=-DC=-D[C=-D0C=-DC-=-D)C-DC=-DC-D[C-)](18.Y|(4.9]| (34.6)]| (200.0|C-)]C-) 67.9
( 0.0| ( 0.0)| ( 0.00] ( 0.0)| C 0.00| C 0.0| ( 0.0)| ( 0.00]|  0.0)| ( 0.0 ( 0.0)| ( 0.00| ( 7.0]| (48.2)]| (33.3)]| (11.1)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0] 36.0| 112.0| 249.0] 151.0] 79.0] 17.0 2.0 656.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D)]C=-)]C- )| 1667 (128.6) | (138.3)| (116.9) | (105.6) | (106.8) | ( 60.7) | ( 66.7) 68.2
( 0.0| ( 0.0)] ( 0.00] ( 0.0)] ( 0.00| C 0.0| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.0] ( 1.5)| ( 5.5 (17.D] (8.0)| (28.0] (12.0)| ( 2.6)| ( 0.3)| (100.0)




A B C
81 80.9 80]79.9 79]78.9 78|77.9 77 76.9 76]75.9 75]74.9 74|73.9 73]|72.9 72 |71.9 7L]70.9 70 |69.9 60 |68.9 68 |67.0 67 |66.9 66 | 65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 19.0] 9%.0] 126.0] 89.0] 23.0 2.0 0.0 356.0
C-D)C-)D)1C=-D1C=-DC=-D[C=-D[C-D[C-D)]C-=-)]C-)|00.0)|(57-6)| (106.7)| (%4.0)| (161.8) | (8.2)| (3.)| ( - ) 68.4
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.00| ( 0.6)| ( 5.3)| (26.7)| (35.3)| (25.00| ( 6.5| ( 0.6)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 6.0 7.0 18.0] 12.0 0.0 0.0 2.0 26.0
C-)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C-)C-)A0.0| A6.7)| (52.9| (00.0)| C - )| C-)[C-) 68.5
( 0.0)] € 0.00] ( 0.0 ( 0.0)| ( 0.00|  0.0)|  0.00| ( 0.0 ( 0.0)| ( 0.00| ( 2.2)| (13.0)| (15.2)] (39.2)| (26.D| ( 0.0)| ( 0.0)| ( 4.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 50| 23.0] 36.0] 40.0] 14.0 4.0 1.0 124.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-D)[C-)]C-)] (500 (166.7)| (135.3)| (130.0)| (285.7) | (30.0)| ( - )| (100.0) 68.1
( 0.0 € 0.00] 0.0 ( 0.0)|  0.00|  0.0)|  0.00| ( 0.0 ( 0.0)| € 0.00| ( 0.8)| ( 4.0)| (18.5)] (29.0)| (R.H| (11.3)| ( 3.2| ( 0.8)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0] 120 40| 5.0 310] 120 2.0 0.0 152.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C=-D[C-=-D]C=-D)1C=-)C- )| @001 (266.7)| (192.6) | (387.5)| (99.9)| (200.0) | C - ) 68.6
( 0.0)]| € 0.00] 0.0 ( 0.0)|  0.00|  0.0)|  0.00| 0.0 ( 0.0)| ( 0.00| ( 2.0)| ( 7.9| (26.3)]| (4.2 | (20.0| ( 7.9| ( 1.3)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 1.0 1.0 0.0 0.0 6.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-D)C=-D)C-)[C-)]@A0.0|(B8.6)| (25| (50| C-)C-) 68.3
( 0.0)| ( 0.00] ¢ 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.0)| ( 0.0)| ( 0.0)| (33.3)]| (33.3)| (16.7)| (16.7| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0 21.0] 70| 25.0] 89.0] 21.0 0.0 0.0 435.0
C-D)C-)D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C-)C667D|(3B.9]|(52.29| (9N.1)]| (8.0| (0.0 C - )[C-) 68.5
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.00] ( 0.0)|  0.0)| ¢ 0.00| ( 1.8)| ( 4.8)| (16.3)]| (51.8)| (20.5) | ( 4.8)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 8.0] 2.0] 18.0 3.0 0.0 0.0 56.0
C=-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[(3B3)]| (8.9 (113.6)| (180.0)| (100.0)| C - )| C - ) 68.4
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)| € 0.00| ( 1.8)| ( 1.8)| (14.3)]| (44.6)| (R.D| ( 54| ( 0.00| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50| 16.0] 65.0] 9.0 620 13.0 3.0 0.0 254.0
C-)C-DC=-DC=-D1C-D[C=-D[C-D[C-)]C-)]C-)|00.0) (06.7)| (12.6)| (126.8) | (140.9| (18.3)| ( - )| C - ) 68.5
( 0.0)] € 0.00] 0.0 ( 0.0)| ( 0.00|  0.0)|  0.0)| ( 0.0 ( 0.0)| € 0.00| ( 2.0)| ( 6.3 | (5.6)]| (B.H| (4.0 ( 5.D| ( 1.2| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 17.0| 30| 40.0] 17.0 0.0 1.0 0.0 107.0
C-)C-D)C-D)C=-DC=-D[C=-D[C=-DC-DH)C-D]C-D]C26)|(BY| (.Y (29| (BH|(C-)| (16D (C-) 68.9
( 0.0)] € 0.00] 0.0 ( 0.0)|  0.00|  0.0)|  0.00| ( 0.0 ( 0.0)| ( 0.00| ( 0.9)| (15.9)| (29.0)] (37.9)]| (15.9| ( 0.00| ( 0.9| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0] 11.0] 62.0] 123.0] 258.0] 9.0| 18.0 1.0 0.0 566.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D]C-)]C-)AV.0| (1192 | (%.3)| (131.0)| (89.3)| (112.5)| C - )| C - ) 68.7
( 0.0)] € 0.00] 0.0 ( 0.0)| ( 0.00|  0.00| ( 0.0)| 0.0 ( 0.0)| 0.2 ( 1.9)| (11.0)| (20.D)| (45.5)| (16.3)| ( 3.2| ( 0.2| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 13.0[ 35.0] 144.0] 9.0] 39.0] 10.0 1.0 335.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-=-D]C=-)]C-)[(429| (929 (8.3 (%.6)| (81.8)| (100.0)| (142.9) | (20.0) 68.1
( 0.0)| ( 0.00] ( 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.00] ( 0.0)|  0.0)| ¢ 0.00| ( 0.9)| ( 3.9 (10.4)] (43.0)| (26.9)| (11.6)| ( 3.0)| ( 0.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.0] 28.0] ®.0] 8.0 57.0] 100 0.0 0.0 269.0
C-D)C-)D)C=-DC=-DC=-D[C-=-D[C-D[C-D)]C-)]C-)|00.0((71.8)| (101.2)| (68.6)| (167.6)| (100.0)| C - )| C - ) 68.7
( 0.0)| € 0.00] € 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.00] ( 0.0)|  0.0)| € 0.00| ( 2.2)| (10.4)| (31.6)]| (30.9)]| (21.2)| ( 3.7| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 17.0| 503.0| 2,154.0| 5,455.0]10,624.0| 3,803.0| 690.0| 113.0] 16.0| 23,377.0
C-D)C-)D)1C=-D1C=-)1C=-DH[C=-D[C-)D]C-)]| (2000)] (141.7) | (118.6) | (100.8) | (110.5) | (103.0) | ( 97.4) | ( 88.6)| (100.9) | (' 61.5) 68.7
( 0.0  0.00] 0.0 ( 0.0)| ( 0.00|  0.0)|  0.00| 0.0 ( 0.0)|  0.D]| ( 2.2)| ( 9.2 | (23.3)] (110.6)| (16.3)| ( 3.00| ( 0.5)| ( 0.D| (100.0)




A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0| 59.0| 2,106.0|15,135.0 |38,839.0 |25,475.0 | 8,176.0 | 1,389.0| 190.0| 15.0| 91,386.0
C-D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-)]| (2.0 (1135 (9%.6)| (5.8)| (%5.9| (100.2)| (95.2)| (0.6)| (8.2)| (51.7) 69.1
( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] C 0.00]  0.)] ¢ 2.3)| (16.6)| (42.5)| (27.9)| ( 8.9 ( 1.5)| ( 0.2)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.0 318.0] 1,798.0| 3,730.0| 3,085.0| 903.0| 191.0| 18.0 1.0| 10,008.0
C-))C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D)]C-)](7B.0) 2085 (92| (77.3| (RB.8| (9.9]| (128.2)| (138.5) | ( - ) 69.1
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ( 0.D] ( 3.2| (18.0)| (37.3)| (30.3)| ( 9.00| ( 1.9)| ( 0.2)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 7.0 53.0] 73.0] 50.0] 210 2.0 2.0 211.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C-=-DC-=-D)C-D)]C-)](66ND| (23.3)| BLL.B)| (228.1)]| (20.0)| (420.00| C - >| C - ) 68.3
( 0.00] ( 0.00] ( 0.0)]  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] C 0.00] ( 0.5)] ( 0.9] ( 3.9 (25.D]| (34.D]| (8.7 (10.0)] ( 0.9] ( 0.9)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 16.0] 145.0] 397.0| 409.0] 143.0] 37.0 6.0 0.0| 1,157.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)]C-) A4 A0.7)| (78.9]| (72.6)| (66.2)| (102.8)| (120.00| ( - ) 68.9
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.3)]| ( 1.0)]| (12.5) ]| (34.3)]| (35.9)| (12.9)| ( 3.2)| ( 0.5| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 6.0 4.0 1.0 0.0 0.0 0.0 15.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-=-D]C=-)C=-)C-)| (000 (0.0)| (66.7)] (00.0)| C - )| C-)C-) 69.3
 0.0)| ( 0.00] ( 0.0)] C 0.0)] ( 0.0)| C 0.0)| C 0.0)| ¢ 0.0)] C 0.00] ¢ 0.00] ¢ 6.7)] (20.0)| (9.9 (26.7| ( 6.7| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50 20.0] 32.0] 16.0 3.0 4.0 0.0 80.0
C-)D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C=-)C-)[(625)]| (69.0| (139.1)| (28.6)| (150.00| C - )| C - ) 68.4
( 0.00| ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 0.00] ( 6.3)| (25.0)| (39.9)| (20.0)| ( 3.8)| ( 5.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 14.0| 59.0] 104.0 77.0| 49.0 9.0 4.0 317.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C-)CWAD(BD|(79.D| (R9Y]| (97.5| (12.5)| (B0 (C - ) 68.1
( 0.00| ( 0.0)] ( 0.0)] ( 0.0)] C 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.3)] ( 4.4)| (18.6)| (32.8)| (24.3)| (15.5)| ( 2.8)| ( 1.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50| 46.0] 279.0| 972.0| 1,270.0 58L.0] 106.0] 10.0 2.0 3,271.0
C-D)C-DC=-D1C=-D1C=-D[C=-D[C-D[C-D)]C-)]C-)|@A05)|@1A04L)| (8.5 (8.0| (8.6)| (74.6)| (76.9) | (200.0) 68.7
( 0.00] ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)]| C 0.00] ( 0.2 ( 1.8]| ( 8.5 | (29.7] (38.8)| (17.8)| ( 3.2)| ( 0.3)| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0| 51.0| 423.0[ 2,086.0| 2,565.0| 1,080.0| 230.0] 54.0 4.0 6,494.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C-)C-)C-)] Q0.0)| (102.0)| (79.1)| (8.4 (97.5)| (128.0) | (152.3) | (207.7) | (100.0) 68.7
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0 ( 0.8)] ( 6.5 (2.1 (39.6)] (16.6)| ( 3.5|  0.8)| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 8.0 59.0| 216.0| 283.0| 151.0|] 41.0 7.0 2.0 768.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C-DC=-D)C=-D)HD|(1D]| (0.9 (100.4)| (142.5) | (132.3)| (0.0 | € - ) 68.6
( 0.00]  0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)]|  0.00]| ( 0.D]| ( 1.0 ( 7.D)| (28.D)]| (36.9)| (19.7| ( 5.3)| ( 0.9)| ( 0.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0| 14.0| 96.0| 485.0| 740.0| 380.0| 8.0 12.0 3.0 1,809.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)]C-)1%6)(842|(%B.D| (%8B.5]| (115.9)| (116.4)| (0.0) | C - ) 68.5
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.)]| ¢ 0.8)] ( 5.3)| (26.8)| (40.8)| (21.0)| ( 4.3)| ( 0.7)| ( 0.2)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 15.0] 179.0| 691.0[ 1,082.0| 800.0] 293.0] 64.0 9.0 3,133.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D)]C=-)]C-)[(556)(76.8)]| (83| (8.0)| (9.1)| (107.7)| (130.6) | ( 69.2) 68.3
( 0.00] € 0.0)] ( 0.0)] ( 0.0)] C 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.00] ¢ 0.0 0.5 ] ( 5.7| (2.0)| (34.5)| (25.5) | ( 9.4)| ( 2.0)| ( 0.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0] 82.0| 36L.0| 480.0] 271.0] 9%.0] 10.0 0.0 1,310.0
C=-)D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C=-)C1LHH|(95-6)| (%.00| 104.1)| (9B.8)| (128.0)| (100.0) | € - ) 68.5
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.8)] ( 6.3 (27.8)| (36.5)| (20.0]| ( 7.3)| ( 0.8)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40 27.0] 104.0] 63.0] 310 5.0 0.0 0.0 234.0
C-D)C-)DIC=-D1C=-D1C-D[C=-D[C-D[C-)]C=-)]C=- )| 400.0)| (900.0)| (115.6) | (146.5) | (63.3)| (56.6)| ( - )| C - ) 68.9
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 1.7)| (11.5)| (44.8)| (26.9)| (13.2)| ( 2.1)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 39.0| 126.0| 23%0.0| 114.0| 28.0 2.0 0.0 546.0
C-)C=-D)[C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DC=-D|(BY[ (40| (B0 (625 (55| (7.9 (22| ( - ) 68.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 1.3)]| ( 7.D| (8. (4. (20.9]| ( 5.1)| ( 0.4 | ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 15.0] 47.0] 4.0 23.0 8.0 0.0 2.0 142.0
C-)D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)]C-)|@Q00.0( (83| (62.7)| (107.1)| (121.1)| (89| C - )| C - ) 68.7
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.00] ( 0.0 ( 1.0)] (10.6)| (3B.D]| (3.7 (16| ( 5.6)| ( 0.0)| ( 1.9)| (100.0)




3 4 3
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 40| 19.0] 29.0] 21.0 5.0 0.0 0.0 78.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-I)C=-)C-)[(00]|(7.00| (72.5]| (105.0)| (56.6)| C - )| C - ) 68.4
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0 ¢ 0.00] ( 5.0 (24.9)| (37.2)| (26.9) | ( 6.4)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 0.0 0.0 0.0 0.0 2.0
C-C=D]C=D[CDC-D]C=-D]C=DC=-D[C=-D]C=DC-D[C-D[DC-)C-D[C-IC-)C-)| 63
( 0.00]  0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00] ¢ 0.0)| ¢ 0.0 ( 0.0)| (50.0)| (50.0)| ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 1.0 0.0 0.0 0.0 4.0
C-)C-D)[C-DC=-DC=-D[C=-D0C-=-DC-D)C-DC=-DC=-D[C-H)|AO(B6.D|C-)IC=-)]C=-D]C-) 68.5
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.0)| ¢ 0.00] ( 0.0)| (25.0)| (50.0)| (25.0)| ( 0.0)|  0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.0 17.0] 54.0] 34.0 9.0 5.0 0.0 125.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-=-D]C=-DC=-)[C-)| 100 (80| (138.5)| (106.3)| (56.3)| (500.0) | C - ) 68.2
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0)| ( 0.00] ( 4.8)| (13.8)| (43.2)| (27.2)| ( 7.2)| ( 4.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 26.0] 64.0] 1340 158.0] 38.0 8.0 2.0 0.0 433.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-)]C-)]| R00.0) (10.0)| (68| (64.9| (76.3)| (50.0)| (38.1)| (500 C - ) 69.2
 0.0)| ( 0.00] ( 0.0)] C 0.0)] ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] C 0.00]  0.7)]  6.0)] (14.8)| (30.9)| (36.5)| ( 8.8)| ( 1.8)| ( 0.5| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 24.0] 157.0| 422.0| 415.0 249.0] 54.0] 12.0 0.0 1,333.0
C-D)C-D)IC=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)C-)A00( (%3] (RB.8| (0.8 (128.49)| (65.9| (120.00( C - ) 68.7
( 0.00| ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0 ¢ 1.8)| (11.8)| (31.6)| (31.D)| (18.7)| ( 4.1)| ( 0.9| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0] 20.0] 28.0] 3L0| 17.0 2.0 0.0 101.0
C=-)D)C-D)1C=-D1C=-DC=-D[C=-D[C-=-D[C-D]C=-D)C=-)C-)[C429]| (4.9 (5.9 (8.6)| (121.4)| (66.7)| ( - ) 68.0
( 0.00] ( 0.0)] ( 0.0)] C 0.0)] € 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.00] ( 3.00| (19.8)| (27.7)| (30.7)| (16.8)| ( 2.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 6.0 20.0] 14.0 6.0 0.0 0.0 47.0
C-D)C-D)IC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)C=-)C-)|(50.0] (0.0)| 22.2)| (8.9)| (40001 C - )| C-) 68.0
( 0.00] ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] C 0.00]| ( 0.0 ( 0.00] ( 2.D)| (12.8)| (42.5)| (29.8)| (12.8)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.0] 27.0 194.0 376.0] 148.0] 19.0 1.0 1.0 769.0
C-)C-D)C-D)C=-DC=-D[C=-D[C-=-DC-)C-)]C-)]|(100.0] (10.0)| (116.9) | 105.9)| (77.9| (4.9 | (125 | ( - ) 68.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] C 0.00] ( 0.3)]| ( 0.D)] ( 3.5 | (25.2)| (49.0)| (19.2)| ( 2.5 | ( 0.1)| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 13.0] 74.0] 12.0| 90| 26.0 4.0 0.0 331.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-=-D]C=-D)C=-)[C-)[(%65]|(&.1)| (8.3 (100.0)| (108.3)| C - )| C - ) 68.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00]| ( 0.0 ( 0.3)]| ( 3.9 (2.9 (36.8)| (27.5)| ( 7.9| ( 1.2)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 22.0] 60.0] 90| 5.0 3.0| 150 3.0 2.0 204.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-D[C-D)]C=-)]C-)|169.2 (153.8) | (143.5 | (141.5) | (145.8) | (115.4)| (100.0) | (200.0) 69.1
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ( 0.0)]  0.00] ¢ 0.00] ¢ 7.5)] (20.0)| (3B.7)| (19.7] (11.9)| ( 5.1)| ( 1.0)| ( 0.7)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 3.0 1.0 2.0 0.0 0.0 0.0 7.0
C-D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-DC=-D)C=-D)C=-D)C-D[(BO|(RF| (00| C-)C-)C-) 69.0
( 0.00| € 0.00] € 0.0)] ( 0.0)] C 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0)] (14.3)]| ( 0.0)| (42.8)| (14.3)| (28.6)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 50| 102.0] 364.0| 866.0| 517.0| 219.0] 35.0 5.0 1.0| 2,115.0
C=-D)C-)D)1C=-D1C=-DC=-D[C=-D[C-D[C-)]C-)]| (500.0) (BL.8)| (162.5) | (9.7 | (77.6)| (65.49)| (52.2)| (62.5)| ( - ) 69.2
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] C 0.00] ( 0.2)] ( 4.8)| (17.2| (41.D)| (24.49)| (10.9)| ( 1.D| ( 0.2)]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 9.0 19.0[ 16.0 5.0 1.0 0.0 0.0 51.0
C-D)C-DC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[(CN00|A%6)| (H.D| (42D C-D)C-)C-) 69.2
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 2.0)| ( 0.0)] (17.6) | (37.2)| (31.9)| ( 9.8)| ( 2.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 40.0| 313.0| 647.0| 485.0] 144.0] 23.0 0.0 1,654.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-D)[C-D]C-)](C16D| (65.6)| (112.6)| (RB.6)| (9B.6)| (114.3)| (1045 | ( - ) 68.2
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0  0.D] ( 2.8 | (18.9] (39.2)]| (29.3)| ( 8.7| ( 1.9 | ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0| 23.0| 139.0| 514.0| 574.0| 3%.0| 122.0] 27.0 5.0 1,761.0
C-D)C-)D)IC=-DC=-D1C=-D[C=-D[C-D[C-D)]C=-)]C-)(67N|(69-8)]| (97.2)| (121.9)| (145.3) | (221.8)| (540.0) | (500.0) 68.5
( 0.00] ( 0.00] ( 0.0)|  0.0)] ( 0.0)| ( 0.0)|  0.0)] ( 0.0)] ( 0.00]  0.D]| ( 1.3)]| ( 7.9 (29.2)| (32.8)| (20.2]| ( 6.9 ( 1.5)| ( 0.3)| (100.0)




A B C
81 80.9 80]79.9 79]78.9 78|77.9 77 76.9 76]75.9 75]74.9 74|73.9 73]|72.9 72 |71.9 7L]70.9 70 |69.9 60 |68.9 68 |67.0 67 |66.9 66 | 65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 26.0| 151.0] 138.0] 87.0] 32.0 9.0 2.0 445.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C=-)C-)[(C8L)]|(9N.5]| (103.00| (97.8)| (71.1)| ( 81.8) | (100.0) 68.4
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)| ¢ 0.0)| ( 0.0)| ( 5.8)| (34.0)]| (31.0)| (19.6)| ( 7.2)| ( 2.0)| ( 0.4)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 15.0] 64.0| 121.0] 84.0] 22.0 0.0 0.0 0.0 306.0
C=-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-)CBY[(BD| (B[ (MD|(B.D|C-)C-)C-) 69.4
( 0.0 C 0.00] ( 0.0]| ( 0.0)| ( 0.00|  0.0)|  0.0)| ( 0.0 ( 0.0)| € 0.00| ( 49| (20.9] (9.5] (27.5)| ( 7.2|  0.00| ( 0.00| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0] 13.0] 83.0| 209.0] 539.0] 531.0] 302.0 113.0] 19.0| 1,900.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C-DC-D)C-)](RID| 18| (127.7)| (98B.H| (B.9| (8.7 (77.0)| (86.3)| (65.5) 67.9
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)]  0.00] ( 0.D]| ( 0.D] ( 4.0 (15D (28.9)| (27.9)| (15.9)| ( 5.9 | ( 1.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 11.0] 187.0| 543.0| 684.0] 308.0] 75.0] 14.0 3.0] 1,8%5.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C=-D[C-=-D]C=-)]C=-)[C64aD|(9R26)| (9N.9| (102.4)| (114.5) | (129.3)| 300 | C - ) 68.7
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.6)] (10.2)| (29.8)| (37.49)| (16.9)| ( 4.1)| ( 0.8)| ( 0.2)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 13.0] 131.0| 553.0| 663.0] 320.0] 66.0] 14.0 0.0] 1,760.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-=-D]C=-)C-)[(B89| (0.2 (63.1)| (8&.9| (107.7) | (132.0)| (280.0) | C - ) 68.6
( 0.0)| ( 0.00] ¢ 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)| ( 0.00|  0.9)| ( 7.9)| (38| (37.7)| (18.2)| ( 3.8)| ( 0.8)]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 3.0 1.0 4.0 0.0 0.0 0.0 12.0
C-)D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-D]C=-D)C=-D)C-)[C-)](%0.0](16.D]|0.0)|C-)C-)C-) 69.1
( 0.0)| ( 0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.00] ( 0.0)|  0.0)| ¢ 0.00| ( 8.3)| (25.00| (25.0)| ( 8.3)| (3.9 | ( 0.0)| ( 0.00| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 16.0] 720 7.0 5L.0| 15.0 1.0 1.0 234.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D)]C=-)C-)C(00| (00| (9.3 (8.DH]| (71.8)| (93.8)| (33.3) (100.0) 68.5
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)| ¢ 0.00| ( 0.9)| ( 6.8)| (30.8)] (3.5 (21.8)| ( 6.49| ( 0.4)| ( 0.4)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 38.0] 281.0|1,122.0| 1,374.0 749.0] 170.0] 15.0 0.0 3,750.0
C-D)C-DIC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-)]C-)[(86.4|(82]|(78.D| (8.D)] (45| (988 (8.2 ( - ) 68.6
( 0.0 C 0.00] ( 0.0 ( 0.0)| ( 0.00|  0.00|  0.0)| ( 0.0 ( 0.0)| € 0.00| ( 1.0)| ( 7.5)| (29.9)] (36.7)| (20.0)| ( 45| ( 0.9 | ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 15.0] 66.0] 2340 189.0] 105.0] 35.0 7.0 2.0 653.0
C-)C-D)C-D)C=-DC=-D[C=-D[C-=-DC-)C-D]C-)]|@BO|(%.7]| (8.0 (8.8 (8.4 (8.5 (175.0)| (200.0) 68.7
( 0.00] ( 0.00] ( 0.0)|  0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ( 0.0 ( 2.3)] (10.D)]| (35.8)| (28.9)] (16.D)| ( 59| ( 1.1)] ( 0.3)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 18.0] 123.0| 350.0| 483.0| 315.0| 113.0] 14.0 1.0 1,428.0
C-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C-)]C-)] 0.0 (783 (112.8)| (R.1)| (9N.7)| (9%6.0)| (8.6)| (46.7)| (14.3) 68.5
( 0.00] ( 0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)|  0.0)| ( 0.0)]  0.D]| ( 0.D]| ( 1.3)]| ( 8.6)| (5.D]| (B.D| (2.D]| ( 7.9 ( 1.0)| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0] 73.0| 246.0 349.0] 173.0] 32.0 1.0 0.0 884.0
C=-D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-D]C=-)C-)ABO|(79D|(8.D| (89| (77.9]| (69.6)| (5.0 - ) 68.7
( 0.0)| ( 0.00] ( 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)|  0.0)] ( 0.00| ( 1.1)| ( 8.3)| (27.8)] (39.5)| (19.6)| ( 3.6)| ( 0.1)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 4.0 95.0] 2,939.020,246.0 [54,597.0 |43,488.0 [17,191.0 | 3,876.0| 660.0| 81.0| 143,178.0
C-D)C-)D)1C=-D1C=-D1C-=-)[C-=-D[C-)](%0.0] (66.7)| (120.3)| (97.8)| (¥4.2)| (9.8 | (9%6.5| (9%6.1)| (9%6.9)| (103.0) | (77.1) 69.0
( 0.0)|  0.00] € 0.0  0.0)| ( 0.00| ( 0.0)| ¢ 0.00] ( 0.0)| ( 0.0)|  0.D]| ( 2.)| (14.D| (8.7)] (30.9)| (12.00| ( 21| ( 0.5 | ( 0.1)| (100.0)




A B C
81 80.9 8 (79.9 79789 78 (77.9 77 (76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 5.0 0.0 3.0 1.0 0.0 0.0 0.0 10.0
C-C=D]C=D]CDC-D]C-D]C=DC-D[C-D]C=DC-HE@O| (-] (-)[C-)C-)C-)| 68
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0)] (10.0)] (50.0)| ( 0.0)| (30.0)| (20.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 1.0 2.0 4.0 0.0 0.0 0.0 0.0 11.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-D)C-H)CRHY|(BHY|ABD| - )| C-D)|C-)D)[C-) 69.9
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] ¢ 0.00] (36.3)] ( 9. (18.2)| (36.4)]| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 5.0 1.0 0.0 0.0 0.0 0.0 9.0
C=-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DDC=-DC=-D[C=-D)C-DC-D)C=-DC=-D)C=-D1C-) 69.7
( 0.0 ( 0.0)| ( 0.00] ( 0.0)] ( 0.00| C 0.00| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.00]  0.0)| (38.9)] (5.6)| (11.1)| ( 0.0)]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 2.0 2.0 0.0 0.0 0.0 0.0 6.0
C=-D)C=-D)1C=-DC=-D1C=-D[C=-D[C=-D[C=-DC=-D)C=-D)C=-D[C=-D]Q0D|C-)C-D)C=-D1C=-DH[C-) 69.6
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.0] (16.D] (16.7)] (33.3)| (33.3)]| ( 0.00]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D[CDC=D]C=D[CDC=D]C=D[C=C=-D[C=-D[C=DC-DC-D[C=-DC-)]C-D] 87
 0.0)| C 0.00] ( 0.0)] C 0.0)] ( 0.0)| C 0.0)| ( 0.0)| ¢ 0.0)] € 0.00] ¢ 0.0 ¢ 0.0 ¢ 0.0)| ( 0.0)| (200.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-DC=-DC-=-HC-) 70.7
( 0.0)| C 0.00] ( 0.0)| C 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (200.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D]CDC=D]C=D]C=DC=-D[C=D]C=DC-DC-D[C-DC-DC-D[C-D[C-D|C-)| s
( 0.00] ( 0.0)] ( 0.0)] C 0.0)] C 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (200.0) | ( 0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 3.0 1.0 0.0 0.0 0.0 0.0 0.0 5.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-DC-DC=-D)C=-)C=-D)C=-D[C=-D]C-DC-D)|C=-D)C-H)C-) 70.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] (20.0)] (60.0)| (20.0)| ¢ 0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.0 15.0] 10.0] 11.0 1.0 0.0 0.0 0.0 4.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C=-DC-)C-D]C-D)]F0OD|(RBB| (629 (2.)| (20.00| C -)|C-)D)]C-) 69.8
( 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.00| ( 0.0)| ( 0.00] ( 0.0)| ( 0.0] (15.9] (61.D)]| (2.D] (25.00|  2.3)| ( 0.0)| ( 0.00] ( 0.0)| (100.0)




